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Part I: Functions: Is the Function Continuous or Discrete?

Date:

Continuous Function

Discrete Function

Step 1 Domain — use an inequality to represent Domain — list all of your x-values
.. N
Low High
Step 2 Range — use an inequality to represent Range — List all of your y-values
e
Low High

open or closed circles
Open Circles; < >
Closed Circles: < >

Step 3 Remember to adjust the inequality signs depending on

Is it a function? Does every x go to one y?

(Yaur x value can not repeat or go to 2 different y's)

Use these steps from the table above to complete the following problems.

1. What is the domain of the relation? What is
the range? {(-7, 6), (1,-3), (4, 3), (5, 9)}

D = r{ Iq’g"
= L

2. State the Domain and Range of the function
represented by the graph.

a. Thedomainis: O . x < (2

b. Therangeis: (& 'ﬁ\!/é E o

3. State the Domain and Range of the function
represented by the graph.

a. The domain is: -S54 X .,.<_ ﬁi

b. Therangeis: —2 < Y, < \O
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Part lI: Evaluating Functions and Expressions:

Step 1: Replace the variable with the assigned number.

Step 2: Perform the operations in the expression using the correct order of
operations.(PEMDAS)

Step 3: On a graph, if given an x find the y value, If given a y, find the x value.
Use these steps to complete the following problems.

5.Evaluate f(x) = 2x +3 when x = 4. k3 .
Ly = 2¢ud 3 £y =11
Pluy= §+3

6. Evaluate f(x) = 4x - 6 when x = 9.

£@) =4d) b £(a)=30
£(a)z 3¢ -0

7. Find f(-1) on the graph
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‘Jinear or Nonlinear Functions:

-a0n is linear if the following is true:

»tep 1: The equation can be rewritten in Slope-Intercept Form, y = mx+b
Step 2: The graph is a line i.e. vertical, horizontal, or diagonal
Step 3: There is a constant rate

9. Which of the following tables, graphs, and equations are linear functions? Select all that apply.
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Part IV: Solving Equations:
Step 1: See if you can distribute anything.

Step 2: What is the order of operations being performed on the variable you're solving for? What is

the result of these operations?

Step 3: How would you undo each operation?

Step 4: Work backwards undoing each operation to solve for your variable.
Use these steps to complete the following problems.

10. Find aif: x + 2a=4z i - =
Xbklasz4l

= I e =
la = U =5
- =
11. Solve fory: 7x + 3y = 8 Z- -
=X X -7 )
3 ;): I NF 3 - %
- ,.g :‘S \ S
12. Devon is solving the equation 8x - 1 = 23 - 4x. Here are the first steps of her solution?
8x -1=23-4x
12x -1 =23
12x = 24
X=2 What property did Devon do to get x = 27?7

a. Addition Property of Equality

b. Subtraction Property of Equality

c. Multiplication Property of Equality
@ision Property J@@it_y;jﬁ

Part V: Writing Linear Equations and Inequalities:
Use the following steps to help you complete the following problems.
Linear Equations:

Step 1: Identify Slope or calculate slope using the slope formula: m = %
A. Parallel Lines: have the same slope

B. Perpendicular Lines have negative reciprocal slopes

Step 2: Substitute a point and the slope into Point-Slope Formula: y —y; = m(x —x; )
Step 3: Distribute

Step 4: Solve fory

Step 5: Write an equation in slope-intercept form: y=mx+b
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13. Write an equations of the I%Gé%l'?at pass%ug : (2,-4 ), parallel to the line y=3x+2.
(Damtwl LWy \owt Wt Sewme Slope m= 3 -1; le¥b
~

= VWPb -

- =4 =3(x-2) { : 3wb S
4 o e ~ i Or - B ~ls =bp ‘
,DLO—-L"-{'L ,'3x—-((: : 3 L@ ~Y=3)*b 4= 3x-10
14. Write an equations of the line tha rough: (1,-5), perpendicular to the line y= 3 +2.

perptadicdar ios  opposite (eaprscal S lopes
/n= —k' NLw Slgee is mz= -8 of -8
Yemxtb ~$=-F+b 2
~Cz =Y (,\B'VD AL g b&’
15. Write a linear equation through the points (0, 3) and (-4, =1y
B \2ocl t U  pont 8109{. "Gb(m U*I\»S\': m(x—x‘)
tinck Slype. |8+ —_— = T
mz Yz _Vg - ol :_gf.l s ¥ | 5/5,’ :j‘ 3= 1()('*05
X2 =%, B e B B =2z AXK

g
= LS
16. Howard decided to start jogging every day at the track. He completes the following-chart-forth

first month (4 weeks) that he jogs every day.

Time (weeks) |0 |[1]2 (3 MIW\M, \Lwae .@_\hdf?.’:hg(y—
L 45|67 e E )
- T s ke

1

Use the table to write an equation to represent the number of laps | Howard runs if t is the time in
weeks since he began jogging. Interpret the slope and the y-intercept.

Equation: \3—: M x4+
‘:j = s +Y
Loon

Slope means:  |-h g[ng_ L | LS \cO®
" Al
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17. The function below shows the cost of a hamburger with different numbers of toppings (t).
f(t) = 1.90 + 1.40t
a. What is the y-intercept, and what does it mean?

‘-3-" Vel o™ lCLO LAY

b. What is the slope, and what does it mean?

'; S \ ‘ % (W\-S ‘\-”/ICA-!(’ ’(IE(’ - CC.LCJh \_bp{)a rrj

v U \sse pace
(j(\/ \\O‘M Namouger ?& & 1.10

Shpt hareis d/uf k- Q |. 16
c. If Jodi paid $3.30 for a hamburger how many toppangs were on Jodi's amburger
36 = L46 +\MOt LY=lMet W c
—|. (‘LO =% q, " ] 1.1 I L(, d
Linear Inequalities: ML S L . {L
At least — means greater than or equal to ' =€ pp D

No more than — means less than or equal to
More than — means greater than
Less than — means less than

Step 1: Read through the entire problem.

Step 2: Highlight the important information and keywords that you need to write the inequality.
Step 3: |dentify your variables.

Step 4: Write the equation or inequality.

18. Keith has $500 in a savings account at the beginning of the summer. He wants to have at least $200 in the
account by the end of summer. He withdraws (takes out) $25 a week for his cell phone bill.

Write an inequality that represents Keith's situation.

~1LSX xS0 Z oo o SO —ISx Z 200

19. The high school student council is selling candy as a fundraiser. You have at most $10 to spend. Hershey
bars cost $1.50 each and each Skittles bag costs $1.75. Write an inequality for the number of Hershey bars
and SKittles bags you can purchase.

|.sohxllTs L0

20. Suppose that you are running a concession stand when a person gives you $18 and asks for six soft drinks
and as many hot dogs as the remaining money will buy. If soft drinks are $1.00 and hot dogs are $1.75, write
an inequality for the maximum number of hot dogs the person can buy? 6 o0 (. '7\)—-{/1 r.o icf
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Part VI: Graphing Linear Equations:

Step 1: Plot the y-intercept

Step 2: use the slope (rise/run) to plot additional points
Step 3: connect points with a line

16. Graph the function y = — ;—x -5
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Part VII: Recursive Sequence:

Use the following steps to help you complete the following problems.
Arithmetic:

Step 1: What is your starting point? (a, = y infercept )

Step 2: How do you one term to get to the next term? (d = constant rate)
Geometric:

Step 1: What is your first term? (&, = first term )

Step 2: How do you one term to get to the next term? a, = rx a,._,

(r = common ratio and how you get from one term to the nexi)

-~

3
18. Consider the sequence 20, 17, 14, 11, ...
LA, ) R
X2 —% -5 «%
a, =dn+a,

ty = =% ¥ 2,3

a. Find the next 3 terms in the sequence.

3. 5 2

{ {

19. Write the next three terms of the arithmetic sequence.
-7,-3,1, 8, ...

A9 A
Y o Y

20. Write the first six terms of the sequence.

an=1.5-an-1 — CommMon rﬂfh(}‘ mUaay mut_l\\PLQ“

a1=6



Part VIlI: Solving and Graphing Inequalities:

Step 1: Use the same steps for solving an equation
Step a: See if you can distribute anything.
Step b: What is the order of operations being performed on the variable you're solving for? What is the
result of these operations?
Step c: How would you undo each operation?
Step d: Work backwards undoing each operation to solve for your variable.
Step 2: Remember to flip your inequality sign if you multiply or divide by a negative number.
Use these steps to complete the following problems.
Graphing Inequalities:
Step 1: Graph the inequality like an equation.
a. Plot the y-intercept and use slope for additional points.
b.

Solid Line | Dashed Line | Shade Above | Shade Below

> = > < > B < <

Writing Inequalities from a graph:

Step 1: Write an equation of the line in slope intercept form y=mx-+b

Step 2: Identify slope and y-intercept

Step 3: Change the equal sign into the correct inequality sign using the table above

20. Solve : -7x + 7 = -56 o
i) i g ; e
—=1 = - X E q \\\
...?_?{'é' - t.eu_%__ _;J
ot -y
21. Solve -6x -4 <-2x + 8 _Ly LV2
—Yy =\ 2 & e
U Y ( X >= )
T _Udx 24 12 e sl
22. Find and graph the solution: -50 < 7k + 6< -8 E
-¢ b -6 = "T": - 2
-5 ¢a% e ZH
W ’




23. Find and graph the solution: 2y + 7 > 13 or =3y —2 =10
=] =Y +2 ¥Z

25. Which of the following is a solution to the inequality -2x+3y>67 Select all that apply.

a. (4,4) ¥ = _
b. (0,2) X PL\% A ond SEL 0 Lhre (s oot
5, (32) W et
d. (3,5) v~
6. (6:2) X ~2(D T3> 6 ~2(-HF2A2) 76
2D ¥ IED Y6 K26 G +6 =6
G 5 b —L(C::)'\”sa)>‘(: "ZLS)-!-gCE))Q’
27. Complete the system of inequalities based on the gra%lh E:a!ow
a. b.
, S—
; N : f;.‘i’.. I R o - : £+ =
£): A A i
AR T * L |
& _ _l,:}‘ A |7 74
“zf;: T R : § \ \'__ EES . " EERE i l; & R *
: I TN 2 s
y £-1x+4 y>-1x+5



Part VIIII: Creating Systems of Equations and Inequalities:

Step 1: Define your variables.

Step 2: Write an equation for the quantities given in the problem.

Step 3: Write a second equation for the quantities given in the problem.

Step 4: Solve the system by either graphing, elimination, or substitution. (Graphing may be easiest). Make
sure you find the solution for both your variables.

Use these steps to complete the following problems.

27. X
A roofing contractor buys 30 bundles of shiﬁgles and 4 rolls of roofing paper for

$1040. In a second purchase (at the same prices), the contractor buys 8
bundles of shingles for $256. Find the price per bundle of shingles and the
price per roll of roofing paper.

|
X = SWagled 3ax + LLJ = 1610 ]
pupr _@’; = Z_G?C, oo My = loko |
i—\~ CoS+ O 26 ws 2o //1 L\Ja; 58’
B Ywh% Paper 303D U(tj;:ld-\.o (,,:: MC;‘*B

28. A business with two locations buys seven large delivery vans and five small
delivery vans. Location A receives five large vans and two small vans for a ‘
total cost of $235,000. Location B receives two large vans and three small
vans for a total cost of. § w What is the cost of each type of van? — |

s 3@5;( d 2w 2 235 ooo) LR m[m‘mm{\ |
LrgOmSX B (2xr 3 = Luooeo') ied )
Sad| V‘ﬂ.&.sxﬁ 3 ;

— e

= - A —
IS e TS0l 35 oo
_:L\}( = U = - 320000 . ( :5

i e -

' = 235000 TB(3%0e) 3
00 - e

29. Solve the system of linear equations: =

— Il e “ = . .
it | IN000 €2y = 23y w0
—5x—6y=23 __27,5"000 : | b |
F == B — 2, —Gows
. ;3_ ;__2:_____.._#. i ™ = i
sk =28 ke, -3)) 6 = 30599
g R . 5
-
W e Had
" - ee ot
- S’C:‘jl_> ‘-—"(.Qd — ZIS ‘-:; ey
% ey F 3R W= -3



30.
Solve the system of linear equations by graphing.

y=—2x+5 Equation 1 Y y
y=4x -1 Equation 2 . JI ]
J
/ :
35N A\
[ 4, 2 N
- f - ]
-
ViR
x \
/ i
Y |
_____ / i =
31. Identify how many solutions each system of ' .,b

equations has: 1 solution, no solution, infinitely many B

. é — = ;f)) _ ' swm@
2 AN = )

U_¢@~y:u)

Sy — 2y =6

& s dp=y)
i (3x—ty=9 |

31. Identify the solutions of the following system of equations given the
graph

Q \ bB Mathifts comn



32. Given the situation below which would be the correct system of inequalities?

You have at most 8 hours to spend at the mall and at the beach. You want
—— _ i ; & .

to spend at least 2 hours at the mall and more than 4 hours at the beach

Write and graph a system that represents the situation How much time

at each location?

Part X: Absolute Value Transformations:

y=ax

~

#1: vertical streteh (o] = Dy or
shrink (8 < g = 1}
“negafive: vertien! reflection

T
N

7 horizonial #3: vertical
frapsintion frapaiation
{apposiie]

33. Match the following absolute value functions with its graph

N yd Pt
T INE= Ay ™ / {3
Nm 2;’” |/ e/ |
\_ 2 .f'f' i X
.? Fa e
B % _ = (=3 |9 2 4
W o
FatY -
! R N o 5
: N f‘f':
2z - \,‘ L L)
e | g PEEN 0.4 :
=2 |0 2 X —2 0 2 4 | &

a. f)=x-2| v~
b. fx)=|x|-4 "
c. f(x)=4|x| L

d.F0)=Ix + 1| W
ef(X)=[x| +1
£1(x)= %Hx] —

X+Hy=8
x<2
y=4

Parent function y = |x|
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Part Xl:Operations with Polynomials

Adding and Subtracting Polynomials Section

Step 1: Line up like terms on top of each other

*Note: if the sign is subtraction do Keep Change Flip first

Step 2: add like terms together

*Note: only add coefficients the exponent and variable stays the same

Find the Sum or Difference of each polynomials and write your answer in Standard Form.
*Hint: identify like terms and use the operation between the 2 polynomials to combine them

\_x_’ vC
34. (5x° - TX — 8) — (4x? + 5x — 6) 35. (4x¢ - 9x + B)+( 5x2 — 4x + 7)
+(-Uxt- Ex+6) 2
S-'“X's 5_7){_2,,5: 1 ("b(/ - +3

o L T Sxolxlsx-2| A
o3 —\y®-¢ -5x N
36. (9x° — 6x° + 7x%) — (7x° — 6x° + 2x°)

J; N FT HIR"

U = 133 410 4 Tx?

L"L\’s +S¥ . —\3x+lo

Multiplying Polynomials Section (7.2-7.3)
Step 1: Use any of the following methods to multiply

a. Use the Box Method

b. Distributive Property to find the product.
Step 2: Combine any like terms
Step 3: Write your answer in Standard Form.

37. Find (3x+2)(x - 1)

B _¥2 BTN |




Part Xll: Factoring and Solving by Factoring:

Factoring Flow Chart

ts there anything in common?

If possible, TAKE Ouf the
Greatest Common Factor

Factor by Grouping

Stap I Sroup the firsd tao terms togetnes ard fhsn

1 Mo 4 tapms the logt ¥wo forns togethen [ Yo 4§
How mary terme doas it have? i atep 2:Farter oot a 56F From sach szpamts
s P Bleamigl, SCF7 } + BCE[ )
- = .-L“‘*--L_x Step 3:Fachor agt ¥he common bivasmial
__'!— S | { seE s 8o
.;-12 Ta_r'msi [3 terms }\
i i Ty
S - v e Y
No pattern, ‘ ]
Stophers || - — s asl
: ; sax S
s there o minus sign e
and G perfect square? i Find 2 terms that
: ; R I multiply 1o € that
wip? ‘ gy’ by g | l add up to B
l | N
Difference of Squures B Maltiply s (2t Jxt )
Tﬂkﬂ- the s{{uura rﬁo; = Fipd Dacinrs of ne T
of beth sides & What fctors add wp o B2
(x+5)x-b) 4 Winess{yz Hye )
______ : & Divide each sumberbv g
Wi s awhole manher,
rewrile B
it is a dedimal, Bettoms
Lip?
|
40. Factor the Following:
a.13. 2¢ + 7x + 3 b.x? +5x - 6 ois Gakt S
s

Ot =2 T3z 6
(R

(X +DOAL
2 3
@G— D 3)
thx +8>9L¥3x+12)
@x*rex) v Bx+12)
2x (¢ +u)F3 ey

@XrS) (X4

& oat-1

( 3x -DEFD

o Mg
23

S
d. (24}:3—632 8}:—2)
GXE (Ux=1) = 20CU%—1)
(L) & +2)
f nt - 49

(& =D+ T)
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1Y sdoeszy

g. 12 -1 h.
x*- 24x+144

(y! LX,\HQ (T, . L\) ( In -~ L{B e
(Fn-4)*

| 490° — S0+ 16

Factoring using GCF and Zero Product Property

Follow the Steps: Step 1: Make sure equation is set equal to zero

5x% = 25x
25x -25x
5x> —25x=0

Step 2: Find the GCF and factor it out

GCF is 5x (Both numbers have 5 | 5x* —=25x =0 -—--- GCF: 5x
as the greatest factor and you can | Factor out GCF
take an x out of each term) 5x(x - 5)=0

Step 3: Use the Zero Product Property to set each factor
equal to zero and solve for x.

5x(x - 5)=0
5x=0 X -5=0
5 95 45 +5
x=0 x=5 theroots are 0 and 5
41 6= 42. 4% — 20y =0
T3 x
H_i3>i_ p— = \ﬁ ( kd - S) =3
o
(oxt3x=o
3 S
S ( w4 | )= 0 | u-S o
- 2 lj[ -: (&) \5 {S {-\\5
£ T en=o TY o
IXTO. « Y=o J

—

3 3 e



Part Xll: Converting form Vertex to Standard form of Quadratic Functions:

Step 1: Expand the parenthesis

Step 2: Multiply the two binomials ( )( )

Step 3: Combine Like terms

Step 4: Make sure your answer is in standard form

43. Rewrite the following equations in standard form: _
afx)=@x+2>%-1 b.f(x)=(x—5)*+3

S(X¥ Ck;y-z,)(x-r‘& —\ L s ) (€N £3

\ - [V d e N L S 8 S
b &5« W L r W +4Y -\ l,:-[_ Kl = M A VON-Ed:
—(/(,kj = \X-L +YX & 3 -Lx ()*é} = MC{ ~(0¢ ¥ chj}

Part Xlll: Solving Quadratic Equations by Graphing, Square Roots, and Quadratic Formula
Solving Quadratic Equations by Graphing
Step 1: Write the equation in standard form
(terms must all be on the same side of the equal sign and in order from greatest to least)
Step 2: Graph the equation in Standard form from Step 1
Step 3: Find the x-intercepts

Solving by Square Roots

Step 1:Isolate the perfect square. Either

Step 2:Take the square root of each side. Don't forget the +.
Step 3:Simplify the radical.

Step 4:Get x by itself.

Solving by Quadratic Formula

Step 1: ldentify a, b, and ¢ and plug them into the quadratic formula. In this case a=1, b =-8, and ¢ = 14.
Step 2: Use the order of operations to simplify the quadratic formula.

Step 3: Simplify the radical, if you can.

Step 4: Reduce the problem, if you can

44, Solving Following using Square roots:

a. b.
O’ + 10 = 91 e Tl +1=29
T
ki o8 \n¢<{4 &
— \i . U . 8-,
n"=zal %"= - 23
c TRE . N Qk nT =3 {_V_ - ._x__.:j__
; | b | /
13~8n1"=-1139 R Y w—
=13 il 7 5 e =\Y
_ - H' : \ d s 1
e ] | A YA e
_— __I'-‘ S | e ~i‘/— (__?_
= — /B'IJ ‘ W ae

L. =N
g Nn--\c
[‘hﬂ_?":f J i L



43. Solve the following problems using the Quadratic Formula

a. b.
'7;” +2m—-12=0 2.1‘2 —3x—-5=0- e
%: X = ,_@54 T} u(zfm Oz 2 X< ~( 53\' %( < “((,L\_ﬁ
4 oY 2.(2) 2 -~:? . T2
X= L or X 3 .

X:—g S }(: k

‘Part XIllI: Simplifying Radicals

Step 1: Break up the number inside the radical into its prime factors. Start by dividing
the number by the first prime number 2 and continue dividing by 2. Then divide
by 3, 5, 7, etc. until the only numbers left are prime numbers. Also factor any
variables inside the radical by writing them out example: .

Step 2: Determine the index or root of the radical. The index tells you how many of a
kind you need in each group to move outside the radical.

Step 3: Remember for each group only one number or variable comes outside.
Whatever is not in a group stays inside the radical.

Step 4: Simplify the expressions both inside and outside the radical by multiplying.
Multiply all numbers and variables inside the radical together. Multiply all
numbers and variables outside the radical together.

44, 45.
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Part XXl:Exponential Functions
Exponential functions are in the form y = ab"
a= the initial amount or constant multiplier b= common ratio
There are two types of Exponential functions:
1. Growth when b>1 use the formula b=1+r (where ris the rate in decimal farm)
2. Decay when 0<b<1 (Decimal or fraction) use the formula b=1-r (where ris the
rate in decimal form)

To determine the rate of increase or decrease you must first y = 3{1.95)7
know the common ratio. Giowlh because bt
Example: Given the following equation y = 3(1.95)" determine | b=1+1.b=1.95
the rate 1952141
Step 1: determine if the function is Growth or decay =l =
Step 2: use the formula for growth b=1+r or Decay b=1-r 98=r
Step 3: Plug in for "b” into the correct formula and solve

i 95%100=95%
for *r Rate of increase is 95%
Step 4: convert to a percent by multiplying by 100

Determining if a function is Linear, Quadratic, or Exponential:
You can use patterns between consecutive data pairs to
determine which type of function models the data. The differences of consecutive
y-values are called first differences. The differences of consecutive first differences are
called second differences.

Linear Function The first differences are constant.

Exponential Function Consecutive y-values have a common ratio.

Quadratic Function The second differences are constant,
In all cases, the differences of consecutive x-values need to be constant.

Linear Function Exponential Function Quadratic Function
¥=mx+d v = ab’ y=(x - p){x-q)

54. Tell whether each table represents a linear, quadratic, or exponential
function. Then write an equation for each.

e
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~
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A
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55.

iLesson

Equation Growth or Decay?
g = 400(. 99)"

y = 0,.5(1.001)"

el Y o T T U P S 1 R S
o) UesErmune il each SOLIgNen represerils eXpanentidl

y = 12(4)*

y = 100(1)"

Doy ]
Grravting |

-
cm}

(1]

56.
A city of 53,000 people has an annual increase in population.
Given the table below answer the following questions
Year, x 0 1 2 3 4
Population, y | 53,000 54,325 | 55,683 57,075 58,502
a. Write an exponential function that represents the population. b = 58 501 = l
x 571075
:'-_' a - —
3 b tj._.. 53(000({[_02{?
b. What is the rate of increase?
b= 1.0ZS Bann belC L 028 X W60
1.2 5 = v = 2.5
c. Determine the population 10 years from now. SNLS oy

\ 0
(j; 23 ,000([-025) = (,T&4y



Two social media websiles epan their membarships {o the public.
{a) Compare the websites by calculating and inferpreting the average
rates of change from Day 10 to Day 20. (b) Predict which website

W ‘p\;nd [C{WPM@ Sloges

will have more members after 50 days. Explain.
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58. In 1900, Littleton had a population of 1000 people. Littleton’s population
increased by 50 people each year. In 1900, Tinyville had a population of 500
people. Tinyville's population increased by 5% each year.
a. In what year were the populations about equal?
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b. Suppose Littleton’s initial population doubled to 2000 and maintained a
constant rate of increase of 50 people each year. Did Tinyville's population still
catch up to Littleton’s population? If so, in which year?

‘3: D0X +2000
3‘: 5o0p (\.OS'JX
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¢. Suppose Littleton's rate of increase doubled to 100 people each year, in
addition to doubling the initial population. Did Tinyville's population still catch up
to Littleton’s population? Explain.
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59. Match each equation to the correct transformation of an exponential
function

ayy =2¥ -2 /6}3.? = 2R /131:4'“" 9,{)?:3(2""‘)4;1
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Part XXII: Transformations of a Quadratic Function

60. What is the transformation of the quadratic function based on the equation?
y=2(x+4)> -8 *remember vertex form is y=a(x — h)* +k
Ve ca\ Sretch
LAY don &

61. For both graphs identify the following
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Find the vertex: (,"'\l 5> Jerze X . (O:-Lj)
Find the Axis of Symmetry: X = - 0.5 X0
The domain: W\ réal S AN el :};,tlg
The range: \3@_ B j > -4
When is the function increasing: %
s 9 inertadey Ly o

When is the function decreasing:
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Part XXIll:Writing Piecewise Functions

Plecewise Function

A piceewise funetion is a function defised by two or more equations, Each “picce” of
the function applics to a different part of its domainn. An example is shows below.

() x=2, #x=0
$ =
o 2x+ L ifx >0

o The expression x — 2 represents
the value of f when x is Tess than
or equal to 4,

2 The expression 2y 4 1
represents the value of fwhen
x 15 greater than 0,

62. Write a Piecewise function for the following graph

3, xz3
[x) = ggx e

63. 64.
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Part XXIIIl: Solving Nonlinear Systems

Step 1: Eliminate a variable by multiplying one or both equations by a number that enables you to cancel out a
variable when adding the two equations

Step 2: Combine any like-terms and get equation set equal to zero

Step 3: use the quadratic formula to solve

65. Solve the system by elimination.
e =3%=2 Equation 1
_.\Ly =-3x-8 ) Equation 2

+& ND S slvhen.
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